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Industrial Education Coffege
Final Terrny Exanrr.
Tarruary, 2071 1.

Cormmrputer 2D Programming -
erz

Tirme Allowed: 3 MHowrs 3 Year Stud
Answer rhe Yoljowing Furestions:
Questiors # -

<. Wirite o < statenrents only ro :
F . Declare (o< /) the constant &> =0 333
Fi- Prirvt ON if x is NNegative anmnd primrt OK olher wise.
ifi. Irncrease (32&) thre valure of R by S50. iIv. Prirnt yyourr College nmame 26 fimes.
bH. Write a C EeXxXpression orly Correspornding ro mrathematical expression:
8 (A + 2)°
W= =t T s (A + £2)
A+ B
Also, indicate the operation precedernce. Coldinlt oty g f s
Quiestior # 2- .
ornly to convert o Termnperatisrr: readirtg ir degrees Fabrenheir
(S5/79) ¢(F — F2).
Swbtractior,

- Draw a rfflowchart
o degrees Celsius, Usirng the formula C =

Wirite & C program to Ccompute and print owt the reswualts of additiors,

O real rruambers.

£,
mrultiplication and divisior oFf w

Questliorn # 3-
Draw flowcharts apd wirite * Programs or-
Determine the smallest valure of two integer numbers.

Compute arnd Print the arceca of a triangle using the FYollowing formiwula.
T -+ 5+ c
K = = T T T
2

.
£,

area = /.S (§ —a) (S —5) (S — &)
Wrhere a,b and ¢ are tlre lerngrlt of thie tirree séides, arrdd :

Questiorn # <:
Draw flowchHarts and write C programs tor-

Comipute the swum of the everr integer numbers Sefwvweery N rrd pr.

=
L. Produce a table of values C A and B8 ) of the egurItriorr:
A = 8o “Taun 05 5 ) Where £+ -5 <5 < 5 _

Note:r B start from -5 o S5 i step 0.5
<for. A fertecd T, A abhdaly

A AD

[V NS RS



; S —
\;/_*__",) < ‘*\>/ < - N - o e St v U P Y e oM\ v

University of. IBeni Suaceit Academic year 2010/2011
Fac. Of Ind. Education Final exam

3*? year, electronics and Subject: measurements technology
Aut. Control. sections Time allowed: 3 hours

Examiner: Prof. Dr. I. Abbas

The student mav assume any missing data:

1- a) Describe the main sources and the main types of errors,
define sensitivity, precision and resolution of a measuring
instrument. ) :

b) In a CRT oscilloscope measurement of HF voltage signal, the

human error is = 42%, the instrument error is = 2.5%6 while the

background error is estimated as = 2.0%6 calculate the overall

absolute error in measuring 140 uv peak voltage signal and in

measuring 600 KH=z frequency.

c) calculate the 5026 full-scale current of a MCI movement that

has a sensitivity of 20 k2 /V. radians and FSID = 100 ~

d) a moving coil instrument M. C. 1. has a coil resistance Rc = 25€2
and full scale deflection FSID = 140 divisions achieved by . 1 mA.
i — If the meter resistance Rm=— 1002 show how this instrument

may be used as milli-ammeter to measure 200 milli-amperes
d.c., calculate the value of Rgh.-

ii- Show how this MCI1I can be used as an a.c. voltmeter to
measure 300 volts a.c.

iii- Using a standard e.m.f. of 10 wvolts and 5000 £ internal
resistance, show how the M.C.I. can be used as an ohm-meter.
What is its sensitivity.

2- a) Explain, using neat drawing the construction and function
of CRT oscilloscope. Show how to use the CRT oscilloscope to
measure small time and small vo tage.

b)) Given the Opposite- angle Bridge of (Fig.1), find an
expression for Rx and L.x at balance and calculate their values.

c) Explain, using neat drawing the construction and function of
the platinum resistance thermometer. Discuss how to increase its
sensitivity. )

d) Show using clear drawing how to use an LVDT in measuring
position and find an expression for its sensitivity.




C\VC\“ Ne T

a1 Cram 531 Al s ~
(= el aalasll 4,19

P I 4 PPN REVER { P O3 L E Rt I =
2011 7/ 2010 © 12l alxdl

A _galdt a9 CLLLSAS - Ballall
—Li3) ASNSY - A3 LAY
e lan S - a3

-1 A ALY O ey

TNy AN VOt |
S (S5 sl alad — daal alal - A303N) alad ) Lleta
e 3 miia Bl e Le S3TAI ( 580 aladl ad e maS o S

alalll Alae —las tgale @8 ooy A (et snll SS3T € 5 gakall o 5eSH u o8) a0l o5 aly maS
R e—h.u‘)l\_) Elatad T g . o gall Yag
. el
D02l A mhY AN calEaa il dabd aca W
eslaall  seealla \)_"):\.L“ - | ‘;;\ S TR WY c.h:él‘ .1
. ,_')__3_;..:53” Bac Liuas 3y 52110 :\.a._ﬁ'ai__; c.l:a:i.“ 2
ool Axdml atassiils saliall o) sall w3

R TR TRPWOR 1
DOALIEN Alall (3 da e 4d sadla (38
DAL aladl | 1
L LSRG alallt 2
C e DI i SH A L (S5 DASTY £ el alallt A5s Gla o 5 e
DAAED al=dl (3 ) e JS) 088 alasdioWl chWilea HS31 =
. ‘__s*u__;l.ln_'l.‘i.a_’_)e.sl\ \:h-:.\.‘j\__i \A\AAJ‘ N |
. AS sam (35411 il gl Ll D2

= et 53 (J) ganaldd
j\@Agﬂ\gﬁd\ﬁ‘x_&ioiﬁ‘)&mﬂbiﬁ?@nﬁhj@_i
(Bal=il) 5 3 5ol A 585 8 oloa 5 — ASaad) Ol gl all — 3 5 5ol =Es - & 5 5u3d1)
OSay —aaS = 53 a8 Lgie IS Ghgam () (5353 (A a1 SS3 5 (o samlt e (e JS Chaa
RSN | N
el (s sae (semad 38 4 CaniS o8 XoRay Al A= S alaat ) OGS aaS o 23 e
Lo DI SNl i g

Toi= 3l ae




201172010 ) _al) alall
- 2011071724 - O\W=lham) é-.gJ\.:a

- -~ P . - a- < - L —— ==y
5 5lac ASNAEN 43 a1 Ada s Chbaada s 5olal (J %W el 5ol (Jemalt Anles lethial

1 J 9N Y saalt
o=l Jlact ot 56l A alal) arsla ) 5l e 2S5

(4=_>15 )

(Sl o 5) S EEYY g dast on 1Y ABNEA QY ALNAIN B leamll g1 o3t S3Y 2

( Sl 50 5) 0 BN PPN § B V-1 NN | B WL TN § N PR | BP0 P PR P |

e KX (R (WA 1)

P S L IS | N |

(323 il Chlyianlt cnlal aa

u.u\.:._:\j‘ L_J\—‘-ﬂ )



AN L\ M - o

S gesiall a8 Y4 =it a3 Jeadlt dolgs iatial r_ﬂgyg_l_aa:_alé
A bt { S - 3 &%) ¥ oYV /Y Y o el Y adand o= Laall aninil) a,ig

+ TASYY Al e e

A (Y ~) o= gAY o)

~ AS aall QJL,...J;;,\S#J_\:J!Z\_QSLAJ_‘:@scﬁ&;éﬁénsﬁéJ&énsﬁsms%Mtu -3

+ AAlAal) Culaladd NWSEl e 2w Al 33 s 1D do gad UGS} B AEY Baild g Apaal e alss v

* B sxaldl Cra dandd) G183 ke ¢ moeeldl) Sl aadaan) daladl B SAN acw ) - Y

8BS Lg539 4adis 3 sue alasiiii, AB3840 /554110 &S Ao s 30 Bl dass 5905 e Jam L SaTlasd) s oad sui, — %
AdBaY /3 21830 a5 ABBAN /L1 Cule ghadl e s Cra s ABNEAN /L2 5ssall Jaanill Cya 3 OUS 1olE an

Aaa (Y o) Anacaal) sy
- 2_3.;“:..\&&,,1..:;@ém};ﬁ%t@sawsqwaﬁse&gwswC,Auaﬂsu -9
da gai A 9¢ e 7 3,0 9al) Jagaa (LS 9 Joudm 3600 Iogad D2 9 e 336 Jelon ARS8 5 1 90 Lo slace Apaead Sy - Y
Creamt v A 10 el Jndia BAS 9 ¢ aww 90 slaiall (I e 9¢ Jand 240 _Salt Jala
v s [ Ja gad oA - & 4 il IS ), 90 sas — L@l aad gl Hlaiall) sac -
300 O5929 < S5 30 3 rad jacd Joydh 10 I oaildl 336 5 o 540 o 5 skaa e slacdt in e O Caale 131 oy

2 h*il‘@ﬁ\s\,hilldm"c*sz_)sgdi‘}ah(}cSW!QJJJc@AﬂI‘)ﬁA4OO;\=‘m‘h‘HJ‘?¥
Craie AB38a1 /O,1  Jaraniily OAJJ‘AAN-@?MJJ'/,7(_’J!$§¢}SG&‘_}J‘_):l.aloolb___lilooo PRCUGFS Sy}
BB 5 AEIN Chae 59 4S80 / 2,5 (Jaladl LaskS Csa 39 48841 /4,5 alally

- =)

v O laeall 9 (o 93 9 (s A_AN Jalall Aalnl 3elas -4
+ i) B glaa I slacadt o gad 485K ——

Ay (Y o) Eﬁ)}a.ﬂ’\ss,f_m ‘JW‘: e { o

-.hgillual\,i‘_’_\nuﬁxllw‘éuu‘sa;&gi@ﬁl‘%w&&éhuiyléufsuﬁﬂiﬁcﬁi -9
v lolcas Gd5gal) Ada e o UGS Adotdaall A giall Aacuill apand Aada S8 Y
5 (S5 cdedla Sa 1500 Jshhy wSi 20 5 el (e Joud 2000 4l sad £ sana £laes At Lo Jaxd 5 e AdaSla -V
- 8524 &\_a:;:.yga_g.._..s‘s‘aieéﬂxf)hgoa;esmyi.cﬂqausaa‘;’M‘53LJ=A
P |
- 626 ORexl Al OL Lale ((Asla / anxs) AdaSlall zUas) -
T e g4 Ol (Fsatea Joka O ale 131 LEieadt Jelaa (B saml Cya ) —co
v g 9anll a 5D Im 83 Cea 3 -
Lt e chsae (B el ) La g ¢ gmadall g LA Aglas Csa (Ea Rl La - %
B A AL GeSh s T L B And) Gallany eaeald oS S aeu ) -

a2 -J:‘-“—_‘ (aldal &

ezl e [ o a




Beni-Suef University Steel Structures Third Civil Year
Industrial Education Collage KFinall 2010-2011
Chivil Eng .Department Time Allowed 3 :hours

Steel Tables is allowed

ASSITIIICG 2277y IIIFSSTrrsr ddzr11:2

Question No3. 250
Check the number of M20O bolts for the connection shown in Fig. 3
——— e ———
2.5 ¥ .Nod400
st
10 can 20 cm 310 ¢
2 1 i
= Pu Ny
E e &g
o gé P D : Bracket 14
i Zg a5 P
= <B P
s 60 cm
i
H
—_—— —— _} - ¥
40 cm
Fig3.
Question No4d. 259,

Design a welded conenection with suitable size of welding
for the connection shown in Fig. 4

- —_—
I2.¥.1 .NoS00 .
6t l
MI 10=t.mm
IB.F.E .NoS00 .
: |
50 cm !
I i S B
Fig. (4)

Page No.2 Tosre VVislires IPr-. Arrzr- ITalkr Saddek




Beni-Suef University Steel Structures Third Civil Year
Industrial Education Collage i Finall 2010-2011

Civil Eng .Department 5@,’ Time AHowed 3 :hours
%'*»»y e” Steel Tables is allowed
.. <J "W/)\ AV B
ASSIIIIIE 211y I27ISSIrrer =2 1:2 - < .
< -\ M <« N~ o s

Question Nol. 25%o
Design the shown upper chord connection as a separated connection as
welded connection with sizeS5S=mm
(Take gusset plate thickness — 10mm)

2L, 55*55*6 11t 12t 21 60*¥60*6

-+

Fig. (1)

Question No.2 25
Find the required number of M 20bolts for the shown connection in Fig 2.

________'_______r_______
13 . F.1. No. 4000
: IT{ead Pl1. 20mm
]
2[. No. 2
1= H D (2 > (2 >] D
= R T e st U SN
N ks 4 D D (= =] D
]
: <. Pl 14mm
| i
1 ]
1 ]
] ]
—_—— ey
Fig.2

NVext F:zrge____

Page Nol. FResr Vislres Pr. Arrrr Balkr Saddek
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The drawing gives details of Hub-puler
Draw full size the following views
of the assembled Hub-puller;
] - Sectional elevation. ﬁj V THe _% Matenl " 10 .
2~ End elevation A , - ’ X
080M40 | .
.WIEQF i | ol ! m, o | _4‘ m m
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Faculty of Industrial Education
Subject: Technology of fine Mechanics
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Sunday 23" of January 2011

Beni-Suief University

First Term Final Exam
Academic Year 2010/2011
Examiner: Dr. M.S. Abd-Elhady

No:. of pages 2 — Third year Fine Mechanics

Q-1
: a) A pipe is carrying steam at 3.5 MPa has an outside diameter of 450 mm and a
wall thickness of 10 mm. A gasket is inserted between the flangec at one end of the

pripe and a flat plate used to cap the end.

i) How many 40-mm-diameter bolts must be used to hold the cap on if the
allowable stress in the bolts is 25 MPa.
ii) What circumferential stress is developed in the pipe.

b) Proof that for a cylinder, diameter ID and wall thickness t, the tangential stress o,

and the longitudinal stress o; are given by
o—plD/2t
o, =plD/4t

Q-2
The lap joint shown in Fig. is fastened by four 3/4 inch diameter rivets. Calculate
- the maximum safe load P that can be applied if the shearing stress in the rivets is
limited to 14 ksi and the bearing stress in the plates is limited to 18 ksi. Assume
the applied load is uniformly distributed among the four rivets.
E —<H>
£ ———— . “{:)— _(:% 4 in b——— O
: > .
| i in
P et ™ . 1 i
P } £
3 in. ¥
Q-3
Find the forces in AC and BC of the shown structure_analytically and
graphically.
1
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1.a-Draw the under damped, over damped and critically damped step response of a
typical second order control system .Show the roots location in the s-plane .(6 marks)

b-Reduce the block diagram given in fig.1b to open loop form. (9 marks)

[}
T R e e 2 e S

L ==

Fig.1 b

2. For the system shown in figure 2 (5 marks each)
i. Obtain the closed loop transfer function @ (SY/R(S).
Determine the value of gain K and velocity feedback constant K, so that the
i is 1 sec

ii.
maximum overshoot in the unit- step response is 0.2 and the peak time
Obtain the rise time and settling time

i
[
-l g

R(S) K > 1 OGS
S + 0.5 - 25 -
Kb -}
Fie.2
3.a- Find and trace the step response for the fo’ owing transfer functions: ( 4 marks each)
sy 1 ji- <> S+2 jii- £ _ zs
R(S)y  o©o.25+1 2€SY  SZ 4+ SSaa RES)Y  SZ4raSe2s

b- Obtain the state space representation for the system described by : .( 4 marks)

WSV + 2y + 16y = 51« where y is the output and u is the input
Pr. F.O.—p
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1.a-Draw the under damped, over damped and critically damped step response of a
typical second order control system .Show the roots location in the s-plane .(6 marks)

b-Reduce the block diagram given in fig.1b to open loop form. (9 marks)

(e} »
SO (e —{e 1=

Gy P, . Gy l» T
K, F \r Fy
Fig.1 b

2. For the system shown in figure 2 (5 marks each)
i. Obtain the closed loop transfer function O (S)/R(S).
Determine the value of gain K and velocity feedback constant K, so that the

ii.
maximum overshoot in the unit- step response is 0.2 and the peak time 1is 1 sec
Obtain the rise time and settling time

1ii.

R(S) XK o 1 OCSH
S + 0.5 ~L_2S -
Kb -t
Fie. 2
3.a- Find and trace the step response for the fo’' 'owing transfer functions: ( 4 marks each)
csy 1 1. €Y 52 jiie S _ zs
RES) G254+ 1 RESY ST SSaa RESY  SZ4+aSr2S
b- Obtain the state space representation for the system described by : .( 4 marks)
where v is the output and u is the input
P.T.O. e P

-9y - 42y + 16y — 5 ut
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Subject : Electronic Circuits ¥IX . ' Academic year : 201p — 208§ .
Classes z 3rd vear Electromic & Control Date : .5/ 172081 .
Examiner :Dr. FAWZY A EIl.-GAMAIL. . Time H 3 Hours .

FINAI., TERM EXAMINATION

1. Give clear explanationfor the following :
1.1 The 3 dB band width of an amplifier is called the Half power band width .
1.2 The CMRR of a differential amplifier .

1.3 Using the voltage follower as a buffer amplifier .

2. 2.1 Prove that the closed loop Gain Acg] of imverting configuration 015 amp is :

| Vo/p ' RfE
Acl = ——————- = — e

2.2 Design an active circuit that coutputs the following :
2.2.1 The arithmetic mean value of 3 input values .

— X

3. o Prove ihét the élésed loop Gain of the noninverting configuration op — amp is :

4- Draw and design a band bass active filter to provide an amplification of 8 within the band of
frequencies between S00 Hz and 20 KH=z . _
Orientation : Take all the values of the capacitors , you will use, equal, O.4 npnkE .
S. Draw and explain the diagram of the following :
S.1 The Voltage Followenr .
5.2 The window comparator .
5 3 The differentintor using operational amplifier .

oy e,

To be continued in page 2 back of paper —_—> > > l___]




-2 -

-

&. Calculate and draw the coutput waveforms of the following circuits , given the

input waveform at the input of each circuit :

S.1
Vi/p
Yy .
~g i
to 21 ‘b‘z_ oy ‘tq, fs
6.2

£

| ‘ ’ | i | V -
T W j’-ﬂ"—ﬂF ! Ez:‘—"]__ 1
— "} . ,

=% Ve

.

& = Best Wishes .
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